6 | 5 | 4 ﬂ7 3 | 2 |

A-A ( 1:1 ) PCB-C PCB TYPE | PCB DIMENS [ TOLERANCE
PCB-B B 102.5X72.6 0,1 mm
N = — —7Y ™ C 102.1X42.0 0,1 mm
~ )
M= :
©
el
AN
/J' | | [1.m |@| ] break to insert the USB cable
1 T nl =
r_| T T T :
M= zl
— ———————— =
- V
@ COMPONENTS LIST
@ RIF. [Q.TY DESCRIPTION CODE
@ 1 2 |DADO M2.5X0.45 PLASTICA - NUT M2.5X0.45 PLASTIC PM10012028
@ 2 2 |VITE TS M2.5X16 PLASTICA - SCREW TS M2.5X16 PLASTIC PM10012029
$ 1 H | o o ) 3 1 |AGGANCIO MODULBOX LUNGO- HOOK MODULBOX LONG P05990002A
= T T - 4 1 |PANNELLO 6M SENZA CORNICE - PANEL 6M WITHOUT FRAME M-00155
@ : 5 1 |DISTANZIALE TONDO 5 X 3.2 X 8.7 PLASTICA - SPACER ROUND 5 PM10012030
A @ A : X 3.2 X 8.7 PLASTIC
@ : 6 1 |DISTANZIALE TONDO 5 X 3.2 X 4 PLASTICA - SPACER ROUND 5 X PM10012031
@ : 3.2 X4 PLASTIC
@ I : 7 1 [Corpo 6MH53-B XTS Raspberry A+ - Body 6MH53-B XTS Raspberry A+ M-05841
@ d 8 2 |Coprimorsetto speciale 3M-CM061 - Special terminalcover 3M-CM061 P05030261T
@ é 9 1 |Base 6M XT Raspberry A+ M-05843
@ é 10 1 |accessorio porta PCB Raspberry A+ - Accessory bear PCB Raspberry M-05857
4 A+
-_—-- 5 .
11 1 |vite 2.9x9.5 tronca TS - Screw 2.9x9.5 cut off TS PM10012018
90,5 Da0,5a3 Oltre 3 fino a 6 Oltre 6 fino a 30 | Oltre 30 fino a 120 Oltre 120
+0,1 +0,1 +0,2 +0,3 +0,5
RESERVED PROPERTY ; ) ] SHEETNR.|  DRAWING BY GENERAL TOLERANCE
c E, ,S 'Ic;he pdresent drawing Zann\;)(tj be DIT]e:qion 171 @l%@ UNI EN 22768/1
reproduced or comunicated to arties, anual modification .
S evZn partially, without the authoriz:a)tion of ' M are rth a?,gwetd Media (m) 4132
ITALTRONIC Srl. ltaltronic reserves to
%’ @ m protect its own rights according to the law. | Date: 1 0/02/201 5 Replace nr. Revision
o Drawed: Rigato N. Checked: Dalla Monta D. Scale: description
<
Denomination:
) ¢ Kit 6BM XTS Raspberry A+
“I"lastiC+
' - T
UM PARTNER PER IL FUTURG roup Drawing nr.
— | ]| ITALTRONICsrL
e VIA AUSTRIA 25/D 35127
; T M-05856-00
~ IR vics | www italtronic.com
6 I I 3 I 2 I




